N .Y Do 2
. Which country’s Cricket leam is not qualified for 2023 world cup tournament 7

(A) Afganistan (3) Netherland
(C) England (1)) West Indiey
l 202340 ACS U M2 i Alal-umisl]l o notll (642 2 sallagin us 4] 7
(A) G421+ () A6
() DI~ (D) <2z 52

|
-

. - , 11 5 . ' * .
Indvagit (Meghmad) an ancient charascter is from which epic of India ?

(A) Mahabharat (15) Ramavan
(C) Bhagvad Geeta (D) None ;,[ the above
2. DA (MUAIE) 205 Wil wis oz suy WL sleu - 19 7
(A) HAI™MIRA (B) 201U
(C) taag 2l (D) Acuidl 254 ]
3. In 14" Centu ry Kashmir was well known centre of which sector ?
(A) Buddhism () Vaishnava Sector
(C) Shaivism (D) Shakta Sector
3. AEAl Aelui 51912 sul AUEU wvaid 32 i 7
(A) 64 AUELY (B) dud HUEIY
(C) [21a 2iue1y (D) 2U5r HUEL
4. Press Trust of India was established in wheih year ?
(A) 1947 AD. (B) 1950 A.D.
(C) 1949 A.D.~ . (D) 1948 A.D.
+ UH 222 2ls O[3l 2eu-u sun auni ass edl ?
(A) O.2. 1947 (B) ©.%. 1950
(C) 6.3, 1949 (D) ©.3. 1948
5 As per population census 2011, which district of Gujarat is 3™ highest among 33 (
(A) Rajkot (B) Vadodara
(C) Surat (D) Gandhinagar
3. 2011 a2l 22l wauet 2z ad-u 33 Breazinidl Aloa suis Al ay andl qaiadl [
(A) U%sl2 (B) 4slezL
(C) Y3d (D) 2l
(). In India, the first Municipal Corporation was set up in which one of the following
(A) Calcutta (B) Madras
(C) Bombay (D) Delhi
[2 it Hi Al wdg ylrana siaiRaq il sai awy o ?
(A) 5A5Tll (3) HalH
(C) Hoo (mlad) (D) [Eadl

MDSN -2023-D | 3



ks I . . q" :.ti"
o of Tnddin includes the duties PPrime Mimister

7 Which Article of Constitut
| ‘ (1) A rlivle - 68

Ay Artiele - 7N
- i1y A rlicle - 58

(C)Y Artivhe NS | | .
sl apieled] 59 7

PRELIATRUTEN R wteedl &
(15) 2I=| 2495  OH

v MG e NIRRT

(A) .;--q-rl-'ﬂl'f.]l»_. ™ |
. D) 2295 - 5K
() 296 NS ") A3

al ion its sodl !
(13) Stroncinm

N Maanet Mars s chel do whoel el

(A Coppes

(C) Titaninm (1) lroen

8. orn 2 56 Mgl (el onfl uaid 9
(A) it () 2zll-2um
(C) 2152 (14 (1) Al
1), Where the “Niti-La™ Pass is loeated in Indis ¥
(A) Jammu & Kashmir (B) Himachal Pradesh
(C) Uttarakhand (D) Sikkim
9, AUl -a e sizARi sl vudal 9 7
(A) 733 ot sl (1) [Baad 4z
(C) Griatis (D) (31551
1. Major tribes in Indian States - which of the following is a wrong match
(A) Bharia - Madhya Pradesh (B) Minas - Rajasthan
(C) Gaddis - kerala (D) Irula - Tamilnadu
0, ouaddl geigen 2t sulzealdol deed AlA-usidl 54 A3 vig 69 7
(A) MIFlul — U (B) Hleu — 212l
(C) 3la — 53 (D) 93at — dilHa-ug
1. Which organisation of the world has its head quarter in Washington DL, 2
(A) Warld Trade Organisation (B) World Bank
(C) Food and Agricultural Organisation (D) International Labour Organisation
1, AlEusidl [@adl 59 szaq qea vas allizz AL vud 2udg o 7
(A) d6d 24 B30 At (B) & s
(C) &5 wi=s viallscuzd vila-ud Aun (D) Sr2aiad Ao 2UETusS Ran
12. In the anterior part at the - tip of the tongue which taste buds are located ?
(A) Sweel (B) Sour
(C) Salt (D) Bitter
12, SOl 2L M3 213 Buz st 2L 222 o8 (aatesdl sofladl) suda 8
(A) A (B) v
(C) ™15 (D) 544

= —_— | —
= e

.
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14,

13,

| (s,

16.

17.

-, ———

Whieh day s celebrated in tinedin

(A) LS A upa

s M Army Dy 7

() 6™ Cre ol

(O 1™ December AL B FTTTII R

vl (Rat oz sl (2o Al g ey 1y

r 3 1: | YA
(A) 1S 292 (1) 16l sl 2| =

(Cy 1l (12 (1) 15uL o<
What is the caurrency of Haly 7

(A)Y Hiahosm Dallar (13) Shekel

(L) Enro (1) Krona
D214l 2 s 6 7

(A) By slaz (1) 2154

(C) 4zl (1) i=

“SAFTA" Full Form :

South Asian Trade Arca. Fill up the blank.
(A) Fair () Fashion
(C) Foreign (D) Free

‘SAFTA" Y2t A vl ooun ya3l,

2104 wifHiam ......... 25 wl3uL

(A) §2 (B) 531+

(C) 513+ (D) 4

As of October 2023 what total amount of subsidy is available to Ujpjavala Yojna beneficiaries ?
(A) Rupees 300 (B) Rupees 450

(C) Rupees 150 (D) Rupees 500

211£21612-202341 2d Gwwaat di-u- acudlaiA 2aan 30an sa el il we & ?
(A) 300 3 | (B) 450 3

€150 3 () 500 3y

Yamuna Express Way connects to which two cities of Uttar Pradesh 2

(A) Greater Noida to Agra (B) Varanasi to Agra

(C) Kanpur to Lucknow (1) Meerut to Agra

gyl s A G sut ol 2l sl 9 7

(A) 2z a4l 2uu (B) awzieall 4l 2
(C) 142 4l el (D) W2s dl =

MDSN-2023-D | S
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IS, Who amang the following Coufarnti A wthor is knowin s chdiskin” nickname 7

. Fas e
(A) Rovishankar Vs (11) Rujesh Yyus
(C) Vijavknmar Vosu (1) Yashvand Shukchs

. NAepuie] sun aewandl dus s Gl 2y 9 7

(A) 2lazisg i () 1% 2 =2
(C) [dyugu uy (D)) 4212 2|54
" is located at __ in Gujurar,

19, A Famous Cultnral Van, “Guaro Covind Smriti Van

{A) Ambaji (18) Dhwarka

(17) Mangadl

(C) Chaotila
19, e dizslds adt e illde Bl A AYAHT e a2yl 21 9.
(A) 215D (B) G125l
(C) ]l (D) M3
20. In India the area under forest cover is aboul of the total area.
(A) 3] % (B) 11%
(C)21% (D) 15%
20,  ouaddi 54 Raiad ......... [z i eulde 5.
(A) 31% (B) 11%
(C) 21% (D) 15%
21. A merchant has 1000 Kg. sugar. He sold some sugar @ 8% profit & remaining at 18% profit. e
onins 14% on the whole. The quantity sold af | 8% is.
(A) 400 kg (B) 560 kg
(C) 600D kg (D) 640 kg

2. s vl 1000 (el wis 43 69, syl 8% 41l 2 o SlHL o2l 18% 51l 43 19, A A 4
14% 81 i dl 18% 51l del gzdl wis <20l vl ?

(A) 400 (54l (B) 560 (54l
(C) 600 [£4l (D) 640 [5al
# A The percentage increase in the area ol a square, if each side is increased by 20%.
(A) 22% (B) 33%
(C) 44% (D) 55%
9 | = . 1 y 0 ot 1 s B .
2. o alzaddl susgdl dous i 20% auizt sl v0d Al HAsuni dedl aiE] wdl ?
(A) 22% (B) 33%
(C) 447, (D) 55

S r——
: -—-._—__—'___-—




11, Avernge ol o ericke "
. e hayer for 10 innings wius 32 runs, I e want toanerease the average by -

more runs then in ey innings he has to make runs
(A 76 () 70
(") 85
{ (D) 87
24, 1“ 1§52 2uadla- 10 DAl Bicader 32 9. % 4 4l sl o atis 4 2=l s2ardl i Al wsdl-lL KA
AR v 24 5391 9 39) 45,
(A) 76 (B) 79
(C) 85 (D) K7
14, A hoy can swim in still water at 4.5 km/h but he takes twice as long (o swim upstream than dlown

stream. The speed of the stream is

(A) LS kmv/lh (13) 2.0 km/h
(C) 2.2 km/ly (D) 1.5 km/h

24 91521 (R wiellui 4.5 Balyscus-l »oudl adl ui 9. Mg SGARM S2el AuE L AL bl HUHY

469, dl 2831 waredl iy 224 w3l ?

- (A) 1.8 [Ball/seus (B) 2.0 [2xl/sa1s
ey, ()24 (53l/5eus (D) 1.5 (El/saus
25, Today is monday after 61 days it will be.
(A) Tuesday (B) Monday
(C) Sunday (D) Saturday
15, 0% AHU 9 dl 61 [Bax udl sul iz wil ?
" (A) Hanaz (B) HHAUR
. (O =1 EETE! (D) alqaz
2. The compound interest on Rs. 30,000 @ 7% is 4347 Rs. The period is
(A) 2 vears (B) 3 vears
(C) 3.5 vears (D) 4 vears
2 31 30000 U HEE Y2 7% AW 3L 4347 2% WA 6. Ao HL uMY 2uol b2dl eal !
] (A) 2 M (B) 3 au
> (C)3.5a4 (D) 4 au
27, Which of the following fraction is greater than 3/4 and less than 5/6 7
(A) 3/5 (B) 4/5
: (C) 7/5 (D) 9/5
17 Alalen 415Ul BEls 374 53U HIEL 2 576 S2AL AL
P (A) 3/5 (BB) 4/5
(C) 7/5 (D) 9/5
- - [ —

MDSN -2023-D | 3 VRET 7
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0.

31

. J i

i
L

in the [ollowing ecquations ?

What will come in place ol (question mark
S (M3 + 543+ 543 60320
(1) |
. (18
(C)y Y
ALkt sl saneni sl e TRUIEELE
&4 (M)A £ SAN 4 543 — 00326
(A) 6 (13) |
() 9 (1) 5
Three numbers are in the catia ol 3 42 Their LCM is 2400, then their HOF
(A) 40 (13) 80
() 120 () 200 ! |
o vl 3 : 4 : § A sqeitna 9. del LCM 2400 gl dl d2ii-l HCF 524 w3 7
(A) 40 () 80
(C) 120 (D) 200
22. 54, 108, 135, 1958 thar LOCM s
(A) 330 (B) 1980
(C) 5940 (D) 11880
22, 54. 108, 135 >4 198 -l LCM 24l
(A) 330 (B) 1980
(C) 5940 (D) 11880
If an object moves at five feet per second, then it will move how many feet in an hou
(A) 300 (13) 18000
(C) 30000 (D) 180000
oA 9 & i £2 254 wia g2 watdl diy dl sasui szdl wael ? g
- S
(A) 300 (B) 18000 Fo—n
(C) 30000 (D) 180000
Find the next number 125, 80, 45,20 J7... o\
)5 0 PN o s
Qs e le e )35 PR
wtdlel -tz ailul. 125, 80, 45, 20 ...7... ‘j’_j:_
(A)3 By1s
i (D) 35




1 2

AR}

34,

w52 4 KA
(AYZTTS
(Y4778
51+ 51 + 5],
(A) 2778

(C) 4778
What least numbe
(A) 23

(C) 3

o U TN RS eqqunl 10

(14) A 775 *

(1)) 577s

N0 b Mzl bae] iy 1)

() 3775
(N) 8775
Famust be subtracted Trom 13601 so that (he remainder s divisible hy 47 7
(13) 29
(1) A7

13601 3L 2kl 2068] 295 383 e o)l A 24l -t 87 ad sl 2 ?

(A)23
(C) 3]
Find the odd man
(A) 64
(C) 37

(13) 29
(D) 37
oul. 2, 5, 10, 17,26, 37, 50,64, 7

(B) 50
(D) 10

2L W 2062 2kl 2,8, 10, 17, 26, 37, 50, 64, __& Se

(A) 64
(C) 37

'-_-ri,._:t_,:L:“—v"’""" "

35 4.9 M 12 hu T -.-;]_,.‘

y - 1 - 1 o ..~. | i.. [.r.. IE‘..‘ ‘ ";L"
13 334 Icuity (D) 10 12 L

Fill in the blank. m 114 Ilg .}2 < - =

m - | 3

(A) 391 ”® <y (B) 421 *'wh”"! \(1 5

. o S o] M-
(C) 481 <3 (DS Vv - JA\S
_ , <15 X
widl 9w mzl, 7, 26, 63, 124, 215,342, 7 2

3 1u = AN
(A) 391 s <3 (By421 7
| o— 1{'\

(C) 481 T3 (D) 511

A student has to

obtain 33% of the total marks to pass. He got 125 marks and failed by 40

marks. The maximuom marks are ?

(A) 500
(C) 800

[QenedlA v uar 33% sl w3dlad 8. A4 125 38 30l S 24 A 40 3usdl araa uda 9, dl 548

Lael ol ?
(A) 500

(C) 800

(13) GOK

(D) 1000

(13) G

() 1000



e " LT TL
.II.'-" i"l. N} Il‘tl' l.} III T I I-.I:I' ‘l'lln “lut

35 % anl |
AN, The prive ol m bk is Hesd devreased h) t'“ﬂi!n
i the price is 4
(1) 21
(A
1LURL
IRRL . L
' el 20% A2l hLoml TR RV REC IR FIETT [§vagqn:
J.:H' ‘lﬁﬁ'” I-;II{HI-'E uﬂ“ :Fl'l.—-‘_. fl'_ i '.! b= *i s - "1i=|. ”ll”“
fosta sedl vl
\) (") 7
L/ -
) 20 o
().
* L 'r(."l iﬂ 3-5 kf'l - »
14 A man's speed w ith cnrrent s 15 km/h aprel Hhe spet d ol cu /h. The speed o, My
e . - o1 = u

agninst the cnrrend is 7
(13) 10 km/h

(A) 9.5 km/h
() 11 km/h

(C7) 10.5 o/
el meu 2.5 [Bal/5ALs 9. Al Mt Al 2 e ) .
vl "':li

30, et JA M-l A 13 [iafly sens-dl 9. M

tzell vl ?
3y 10 [Eall/seus

) 11 [Bl/scns

in the same speed. The length of each 1y ;
Is

(A) 9.5 [Eal/scns

(C) 10.5 [538]/5¢05

in the opposite direction

40, Two trains are running ' _
120 mitrs. and they cross each other .12 seconds. Then their speedis _ km/hr.
(A) 42 (B) 36
(C) 28 (D) 20
0. 624l mel [A3e Basd el . -3 o fl donds 120 Hl22 8 A4 12 ASsul sl waz 12 9, 4
Al A5 e [Zadl/s et v,
(A) 42 (13) 36
(C) 28 (D) 20

A shop keeper cheats to the extent of 10% while buving and selling by using False weight, His

total gain is
(A) 19% (B) 20%
(C) 21% (D)) 22%

it 2 szl w1 Al 10% A Dl 53 9. v ARsAHI AV B2 28
AVHE LN (A

(A) 19% (B) 20%

(C) 21% o
21 (D) 22%

o o n— = — -
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Wy selbing 45 demons for R, 40, o mon loses % How el e shoulil ¢ rae lar 18 lemons 16
' ’

o gavbin 2075 7
(A) Rs. 12 (1) Ws. 1i
(C) Ry, IN (1) IRy, 24
12, -r| VI TARES A5 .:-nl'! Jl 410 "“ a:l Lﬂ }-"l"i 20" '15'“". fl—“:ﬂ;l I_.ﬁl_ B, fr“h! ﬂ-‘ &;1"." |,"' S B hﬂ{;}A a.d.-.,‘n r'l'i
20 sl By Y
(A) L 12 (18) 20, 16
(C) 3L I8 (1) 31 24
13 A bag contains SO P, 25 Pand 10 P coins is the ratio OFS 29 24 and the total amount is s 200,
Find the total no. of coins ?
(A) 560 (1) 520
(C) 720 (1)) 820
p ds delHE S0 R, 25 a3 10 Wanen [Bast s sl A 529 ;4 s 9 343 51 250 31 206 6 Al
sed (9550 S2e wel 7 .
(A1 860 13) 520 e o1
(A)S (1) 52 5 1 S _
(C) 720 (1) 820 R
14 Two numbers are respectively 20% and 50% more thun a third number. The ratio of these
numbers are 7
(A)2:9 (B)J:5
(C)4:5 (D)5:4
. 1o <612 521 HE 6L 0130 20% 1A 50% qrud 8, v WAL Al 2yeline 324wl ?
(A)2:5 bk
(C) 4 )3

{1.5] +{4. 7) +[.L5} ~3(1.5x4. 7x3.8)
5. Simplly ) 502 (4.7)7 +(3.8)° —(4.7%3.8)—(1.5%4.7) = (1.5 % 3.8)

(A) D (B) 8
(C) 10 () 12
{!_q]' H'”} 4_w1x3 —. 4 Hvu il
B 15+ (A7) +(3.8) —(4.7x3.8)-(1.5x4.7)- (1. 5% 3.8)
(A) 6 (13) 8
(C) 10 (D) 12

Which of the following has both endocrine and exocrine functions ?

40
(A) Anterior Pitvitary (B) Thyroid
(C) Adrenal Medulla (D) Pancreas
"
6. Alusidl sien -2 vid vlsalsd v o« s1ul 52 19

(B) 20

(C) 2 4-e Weylau |
J P.T.0.

MDSN - 2023 -D | ¥
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47, Trident L
!.-\j.h"lmlﬂlll'u|lln'=i.11
((") Y TR L LLARELLR apriilosts
47, ETTLRULEIR TR L
Ay ol sleglrenfa
v sl l2120
IN (e rnpa o il A pthedtis con ciansd
(A} Intersiital im (Lo
() Type 2 atrophy
18 aizin s adlhan s TIRLEA:
(A) i dls M0
(C)uha 2 #glel
4", Fovowd that should e agvoidded in
(A) Malk
() Sola
49, apteclile Al glanae saize Al
(A)
(C) Al
M). During sleeping, normal heart rate

i secn in

(A) S0 beats / minule

(C) 120 beats " munuty

i

ol newborn is

(1) Scuryy

{'I} N“"l‘ il ”IL" “f}ﬂ\'v

1]!]*%{““
I LU AR R RN

(18 Visculihs
(1) Aol the ahinve

(1) desyncla
(1) GMalhed AMIH

Aleohol withd rowal chivnt ”

(13) Orrange Juive

(D) Regular Coflfee

At iLd] 4l wilzts 2endl Wt ?

(B) el 22
TIECIEEEEL

l & @

() 100 beats / minute
| &v  ~

(1) 140 beats / minute

Sl galiunet attd Taet 4o bean A dld e ?

(A) S0 oz (3412
(C) 120 1z /(34412
Oxytocin canse all excepl

(A) Lactogencsis

(C) Contraction ol uterine muscles

sl g2l 212l wiaan] sz Al Wl sy 9l 7

(A) As2 (20423

() 5177 5207 15 Yot Hud

Ergometrine s commaonly given for

(A) PPH

(CYDvsmenorrhe:n

(B) 100 ollz/[3-le
(D) 140 olle/-Alz

(B) Milk ejection

(D) Myoepithelial cell contraction

(13) ¥les %531
(1) Haia e lEuy Aa- sz

(13) To shorten 2™ stage of lubour

(13) Toxemia in Pregnancy

2] 24 A 58 sedlani st »ud 8 ?

(A) MLMLwla, (a2 wdy duiy)
(C) [zl u

(1) flalad] (dniz) - oflo 229 51 w2
(D) bz 23 235



Lo ninch delicioney, pll e

41 llllllmulﬂni"“r wo N
| | ,u‘.} ].h"“r“l".‘h L TR i
(L) Do ntin
.'T.';...- ['n =1, i ) | |
3 A1) A GO A ) 3] BT
(A BARN
() GAIE,
s Which of the following vient jure.

(A) Japancse Encephalitiy

(C) Kyasanu Forest Diseyse

" il sl cuuze Ay [y gey S e 1 7
(A) e w1 iz euday
(C) S slazz Hally

{(:] Severe

i
& &
W

ALTR LITETRR [T

(1

(14
1)

Thioy alings

Sl B

R ETTRENLT

SR rnmnsmitibed by tick

(L) e nee Feyer

) Yellow Fever

(n

) 4oy £lag

(%) 4l Slaz

(13) Maoderate
(1)) Bor diseases

50 AL 70 AL Q32U 00,54 323 a1 wsia Al Al sz a Als allad Loy wa

. i 7
(A) =93 (1) Wy
(€) AR (D) iz 210 =
56. Leprosy alTect all except
(A) Uterus () Testis : ST
(C) Eye (D) Nervaos System = =y
i_..;’ 2 et Al suA 2 sag el ? T,
(A) Ay (B) 3154
(C) 2w (D) A =22y
§7. The Antidote of warfurin is
(A) Protamine Sulphate (15) \’immini H_:t ;::H"'f‘-_,

(") Vitamine C

7. alRsdlal vz g o 7
(A) Uizl ues2
(C) dlzidlA - 4l

Echinocandins are not active against

(A) As per gillus
(C) Cryptococcus SPI
8. Al 4L 5o Sl e ulbu 4dl !
(A) Bz yero
(C) Azl slsu LML,

MDSN . 1013 -D

(D) Vitamin D | ‘

(B) dlziall4 - &
(D) dlawsll - £

(B) Candida SPP
(l)} None of the above

R UE BRI
(D) 2] uide 0 AL A5 w4\

PT.0.



(13) Braden Scale

(17) Snellan Chart

‘Sﬂ:‘-‘ CMatosbe ity s i W 1L
(A} SEreptomyein (11) Kananmycin
(C) Tabprnmyedn (1) Amikacin
. sl 21l 2g 2] sanren siedl 2o 89 7
(A) 22 el (1) !a.-uum-'-:llﬂ
() Aol (1) 2l szl
i, Which of the Tollawing is used 10 pssess (e level of consciousness 7
(A)ATGAR Seore
(Cy GOSN (Glasgo o Suvale) _
0l bl sul @het dAe-n 22 s 2 NEEVEICE
(A) #2512 (IB) s 2544
(C) .l (3'-E1Ii:1~'*ﬂ siM1 254) (1)) 24 L
0. Major canse of Blindness in Intlin is

O,

6l.

03,

iid.

0.

(A) Glaucoma

(C) Corona Blindness

LA o] Mo 5120 5y 19 7
(A) g 5im

(C) szl i

Likert scale s

(A) Ordinal Scale
(C) Variance Scale
Al 5z 254 3] 9 7
(A) #1114 25
(C) AZlu- 254
Which is abbrevation ol ANOVA 7
(A) Analysis of Variance
(C) Analvsis of Variant
sirtial (ANOVA) o 56 514 % 9 7
(A) wi-nell=fla w0z 490u-u
(C) “A-ndldllzy 215 adly-2
standard deviation does not depend on
(A) Mean
(C) Range
M5 (A 21 4z 20412 20udl 18] 7
(A) A#314
(C) 4l

e

(B) Refractive error

(1)) Cataracl

(B) 53 52la w123
(D) idlul (5235)

(B) Nominal Scale
(D) Categorical Scale

(B) -iMlH4 234
(D) a3llsd 254

(B) Analysis of Variation
(D) None of the above

(B) vA-udlalla 2415 4d)2ia+
(D) 2Ad] eaulde =t WA 215 e

(B) Median
(D)) Sample Size

(B) Hyy
(D) -l 2w w2



[l“

[slv,

oY,

fif),

doli it re - _
W i W trentment will coause Leunsient memney lve ?
o [T

(A Ethionamide l
. () INTE
(C) bt
. | L) 'yrearinumide
off M2 MY AL lar-2 mling vy d) o2 sz e 19 7
A A g - m-; 2
F Jl: - ! J’
o ok 3 |
() DEMBYELE B U335
- L BN ¥ R’

Ihe puepose ol conduet s Lrnining st

e — e

(A) Improve qualiey of work (IR Taprosve stall morale
(C) Help improve communiention (1) AN of the abinve

22t At HaA sl i s4) 15 7
(A) sl Sgsarmi il

(C) AU YUz HEE (D) Guzisd dAMIM
The charactenistics of an ideal normal distribution curve is / are

(A) Bell shaped
(C) Tts symmetrical around the mean (D) Al of the above

wtg el M- [de2o amis-l epaBisdaizl 565 5 ?
(A) 425l vusta-l
(C) d A3l 20 AUHRAL H2d B9, (D) Gulsd AMH

Gonadotropin releasing hormone stimulates the release of
(A)ACTH st Az (I3) Growth hormone

(€) Lufeinzing hiormone (LH)
(L 021 Y 5et 5212 il sut usad Grlyd 530 7
(A) w2121

(B) 3y dlni-

(€) ez Mo el (Maia.)

) uidASs 2Egddla dind (ALuiua)

Serious signs and symptoms of Preclampsin are

(A) Sharp rice in blood pressure

(B) Increase Profcinuria
() Severe Headache and Visual disturbance

(D) All of the above

s B 2iella Bindl i anol sus ?
(A) Al eoun dla atzl

(1) Wil Eai 2kl

() it fuid e el (202)ul asels usdl

(1) GMalEd AHIH

(1) 220540 Ml i 241

(1) Mean, Median anil mode do not coincide

(B) 321, W A [Fuld as3m a1l

(1)) Thyroid stimulating hormone (TSH)
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This orpanization is the le

(A) American Nurse A cxocintinn (ANA)

(B) American Nedieal Associntion (A MA)

an Nap, Dingnosis Associntion |

NANDA)
(C) Novth Amerie
postic Socety

(I American Novse D |
w12+t alls2n sed

' - Al 5220l cllte 29 7
ot aian -yl wuozlla (e

(A) 22 61 12f 2l 2t (ol vkt L)

(1) wn(3 54 WSl st wtaiadlaa (a2

(C) -l w3 54 ~taflan saoi Al siatiallztan (e

(D) A3 54 12 s a-izdls Alaunadl

aore il wiel suima’ s s e 89
(B) AuddzIM bl512

I.ﬂ\} =Ll HIAH .
(D) AlHAZH [rwél

(C) 12[Feaa [Rdlzw
o, HRUA, 2UN A 3 585 qacsatal AL e 7

(A) 2Bz (B) da-dl i

(C) el 4l (D) yladlaca™

s AL lar Yads slE aua o ?

(A) Sz qzdlsz (B) »azae Huell

(C) 242 (D) 5151 514452

S8 yuiq’ Guerell 2ufded 3 s34 B9

(A) 2L (2, wés (B) 243E1E WSl
(D) e gelz

(C) Jildlais2 gl
iz’ siestz Aadl slidni Ad-unidl san a%s uay aud Gl ?

(A) 2L (3. wes (B) 6L. 5. 61512

(C) nallELA (D) WOLRELR
Geena” -l 24 eolsl.

(A) Gd + d1- (B) Gg + dlA
(C) G: + cuxt (D) G4 + «l
Al2d-nidl 56 sasell wil 9 7

(A) gl {372, ; By
(C) sl (414 2/ 16 (D) [z
R wd+Qd  S) g

| 133

(A) Ay (B) eyt
(C) vdltd (D) 2l



sl

§4.

85.

Nb.

88.

39,

ol L350 d AU L ¢ ' R
of 53 A 2 AL Al ey a0 AL AL 20|

\ ) 3L |
(N\) (1) IHHrif--ulg.r.,
(() s LT fxl

LY "E 42 e

il LRIEH ""i"."*.l’:?ilI Q[ﬁ“'i'lal-lll U T
el f !5:; ¢ ‘
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(A) cel{M AUHL (1) G5 20M1%

SRATE L ESETRITEY . .
(C) bl ML (1)) sM{ui=u 20M12

sl s waidl g3He A stadl aug ad’ dlBaui sl sz auzid 9 7

(A) -'Elll‘;';ﬁ [agllia e (1) A3 295

(C) 2 O (D) 4zinlda s e

ot 2HEAL 2091 514 YoH A 53 7 wd s winuAL

(A) 443 o (13) Gum

(C) #M (D) Geddzu

A4 wde nosinidl sul 208 M3 w6 ?

(A) L&Y (B) #3l%

(C) tlan (D) slad)

azel’ qelas 56 e g wslid au o

(A) ¥l Ald ey 215124 (B) %A Al ulE3us

(C) vilEats su ueu (D) 5H12 Us9

Select correct antonym of the given word. “Miserly™

(A) Hospitable (B) Philanthropic

(C) Generous (D) Lamentable

We could see the river us from the bridge.

(A) before (B)on to

(C) beside (D)) below

You pleased to hear that your father 1o the committee.
(A) are, is selecting (13) will be, has been selected
(C) have been, was selected (D) have been, selected
He should the exam in May, but he was ill.

(A) be taking (B) be taken

(C) have taken (D)) have been taken




s pwner.
g complain ahont the oW

™). He wanis (1) making
(A) to minhe (1) maile
(C)y makes "
| THLALEE
| _ T LN R
0. Vo yoom wannld ab l“l T have, .“-"ﬂunu
' L | . . :
() v ing, ik (1) to have, (o drink
(C7) iy e, o diinh tere life™,
arils an nusiert
) Seleet g e one worrdl Ter “one W ho Iull'
. clectngy (13) Gourmand
(A I ilﬂ_llh-l' {“I Fl""i"“

(C7) Ascelic
o snpe.

93, Arijit Singh hoal o poodl
(13) trupe

(A) tronp
(D) trup

(C) troupe
don't know what (o say.

04, | wwas 50 by the news that |

(A) admired (3) marveled
(C) amazed (D) wondered
their service is excellen

ant has some ul the hest ch-cﬁi in the town.

DS, The restaur
(A) In addition to (B) Morever
(C) Besiude (D) Although

96. Philosophy has always been an enigma [0 me. Replace the underlined word.
(A) a problem (B) a mystery
(C) an enerey (D) adralt

97, The internet wires have been cut. (Change the voice)
(A) The internet wires have cut by someone.
(13) Someonc has been cul the internet wires.
() Someone have cul the internet wires.
(D) Someone has cut the internet wires,

0y, We  our lunch half an hour ngo.
(A) limished (B) had finished
(C) have lNnished (D) has finished

9y, Her _ (forget) nature often puts her in critical situations. (Choose the correct sufTiv)

A) Torgetness .
(A) Torgetness (B) forgetless

(C) Torgotten

- (D) forgetful
100, Select the wrongly spelt wor.
{n‘i} ﬁil'll! (Il} (-*1 - r
| e
(C) Ficree (D) P
riece



